
-~ - 

RIE Li
bra

ry 
Bho

pa
l



3T~I~ - ~ef 
!lGri"11 CPT Pcr~~ 

4.1 !l'2:'C1lqGfI 

RIE Li
bra

ry 
Bho

pa
l



· 4.1 !>I&lIClGfI:- 

~Trmeff &Rr "l"lICfllfuJCb 3nfefc5 "RR qR"l~-tft (:sr. lRf:t:ft. ~~) 

W~ 3rrcpfW "RR CfIlqcift (:sr. lRf.cf.;. "l"lCf-8GfI) aerr C4C1"l"lI~Cb ~ ~ 

(:sr. lRf.tft. ~~) CfIIGfCb 3QCb"lJi 'CbT 3Q<!tI()1 "!>IGCtf "liCbC1Gf cf.> fRrr 
-mxrr ~I 

c=rc=q~"EITC{ ~ q5r "l"ll "loft cil 'C4'CIR".e:rcr -mxrr ~ creIT '(ff"&!I CfII Gf 

CfII Gj Cb Wit C1 GJ l!ci" tr. ~ M Cbl C1 Cb"l M G:f,il{ q5r '!rfl<f -mxrr l!ci" C41~ I 

~~I 

~ 3~ 3i1RClRll l!ci" ~ 3iIRClRll Uf5f l!ci" tN5IT3IT q5r mr 

~ creIT ~ ~~ 1!CJ" ·CJl Ia:f) 01 ~ cf.; 3IT~ ~ CI()ffcQct -mxrr arzrr aerr 

"l"lICfllfuJCb 3nfefc5 ~ Qffi~-tft W~ 3rrcpf~ "RR CfIIQcift creIT C4C1"l"lI~Cb 

~ 1TQ?f cf.> &Rr dli ~G~f fRrr ClT"(! 1 

W~ 3rrcpf@" cf.; ~af cil 3i1RClRll aerr ~ 3i1RClRll tmr> 

CJllailol l!ci" ~~ Uf5f aerr Uf5f l!ci" tN5IT3IT 'CbT gC1GJIMCb 31~ -mxrr 

~ :ffif m C4 CI"l"lI~Cb ~ cf.; ~af cil fcrf31GGf C4C1"lil~ ~ ~ 

"lilR>f&:tCb> -a$lIMCb> fSp~IMCb> CllfUl~Cb> "2iJGfIMCb> CbC1IMCb> ctffiSr 

"lil CfIlfuJCb ClJ6 ~ ~ cil 3"1lRCI Rll ~ 3i IRCI RfL Cllla:ft 01 lTCi- ~~ om 
Uf5f l!ci" tN5IT3IT ~ ~ 'CbT gC1GJIMCb 31~ -mxrr ~ creIT 3ilRClRoft 

l!ci" ~ 3i1RCI Roft -rn?IT ~ CJlI ail 01 l!ci" ~~ 3ITml ~ "l"ll CfIlfuJCb 3nfefc5 

"RR 'CbT gC1 GJ IMCb 3f~ fcJmr ~ 1 

27 

RIE Li
bra

ry 
Bho

pa
l



3HRcll"l?:t) "(!C[ m: 3HRcll"lofl ur?IT ~ ~~ 3fTCPTcm at mefcD 3RR: 

~~I 

dliclcbl ¢CfliC15 4. 1 

3I1RClF8) "(!C[ m: 31IRICI=Bl ~ ~ ~~ 3fTCPTcm 

. 
!Jd'flfUlC15 'if' ~ mefcPcrr 'SP. 'tM3r '8'8i!11 CFl64d'fIGl 

RI:q(Y1G1 

1 3HRcilm 68 39.45 9.71 

2 m: 3HRClIm 78 39.83 9.16 0.811664 mefcD ~ 

~~T - 144 0.05 = 1.98 

0.01 =2.26 

3HRClI"lofl "(!C[ m: 3"IIRIClRofl ur?IT ~ ~~ 3ITCBTcm at mefcD 

3RR: ~ ~ 3m: ~~ qRCI5d4G11 "locftCl5Fl ~ Uf1"Cft" ~ -eRg CffUlCffIGl cf.; 

3i~"l"lI"2 m: 3i1RClI"lofl ur?IT ~ ~~ 3fTCI5Tcm 3i1RClRofl ur?IT -R 3ITacP 

~I 

28 

RIE Li
bra

ry 
Bho

pa
l



4RCbd4GtI - 2 

~I 

difutCbI SiSCI1iCb 4.2 

~~ l!CT (}l Ian 01 UI"5I1 ~ ~~ 3JTCPf~ 

. 
~CI1lfUlCf) .. tf:J~ mefcPcrr w. ~ '2Hpi!H 'd1etCl1IGJ 

fcI=tImGJ 

1 ~~ 59 38.12 8.47 

2 CJlI a:ft 01 87 40.70 9.88 0.096052 mefcp affit 

~~T - 144 0.05 = 1.98 

0.02 = 2.26 

~~ "GCf ,WanUI t9T?11 ~ W~ 3ITCPt~ -a1 mefcp 3fcR" GUft ~ 
3m: ~~ QRCBEQGJI "(4)CBI'l q5f crrrcfi ~ "4""ig Cff~CFlIGJ if> 3ic:J)"lil'l CJllafjul 

Br3IT q5f WCffCP 3ITCPtcm 3ITacp ~ ~ 1 

29 

RIE Li
bra

ry 
Bho

pa
l



qRCb(.YQGlI - 3 

r·- 

. 
!II CI1lfOlCf) cit~ ~ wefcPcrr SP. SI3f 'CI:G;!II cHeJCI1IG1 

RI:q(.YIGl 

1 "EM3f 74 41.12 7.96 0.058805 

UI wefco "GI"tt 2 ersn Q 72 38.15 1 0.51 

. 
~~T - 144 0.05 = 1.98 

0.03 = 2.26 

"EM3f 1!Cf tN3IT3IT cr5T WmcP 3ITCI5f@" -a1 wefco 3kR: GJif % 3m: 

~~ q RCf)&q Gf I "loci) Cb Fl cr5T crmfi % "Q"ig (ff&!l CI1I Gj c5 31 'l!)"l"l R -rn?IT cr5T 

WmcP 3ncpf@" 3IT~ % I 

30 

RIE Li
bra

ry 
Bho

pa
l



(>.- 

_ .. __ _._ .. __ .. _ __ ....• _- ..............•.• - - - - _ _.- _ _- _ .. _. .- __ .. _._ _ .. _. __ - '- - -.- _ _ . 

ta NON TRIBAL Iij TRIBAL 

3) 

31 

RIE Li
bra

ry 
Bho

pa
l



r· 
3i1Rcll"lfi ® ~ 3i1~qRn m?lT qft ~<:R1IMcp ~ cij- ~ wefcp 

3R=R: ~ ~I 

a44RcbCClGlI 4.1 

311RqRfl l!Cf ~ 3i1RClRfl tM?IT cBT "l"llm0!'l ~m 04C1"l"lIRlCf5 ~ 

-a1" wefcp 3R=R: GIit ~ I 

dlfutcbl ¢CAiCf5 4.4 

3t1RClI:81 llCi' ~ 3t1RClI:81 ~ cBT 'a1f6~Cf5 04C1'aIRlCf5 ~ 

. 
!IId1lftilCf5 c~, ~ wefu;crr w. ~ 'a'8i!l1 CfJetd1lG1 

RI'CIC1G1 

1 3~IRClI~ 68 3.60 0.82 

2 ~ 3i1RClI~ 78 3.80 0.90 0.1 769 wefcp GIit 

~~T - 144 0.05 = 1.98 

0.04 = 2.61 

3i1RCI Rfl l!Cf ~ 3i1RCI Rfl t9B1T cBT "l"llm0!'l ~m 04 CI"l"lIRlCf5 ~ 

-a1" wefcp 3R=R: GIit ~ 3m: ~~ qRCf5&4G'1I "l:cftCf5I"20 cBT crrrcft % I 

32 

RIE Li
bra

ry 
Bho

pa
l



344RcPtv4GII 4.2 

311Yaq R-n l!Cf ~ 311Ya q R-n m?IT q5f -a $II fG1 CI5 ~clT at q "l·1I ~ CI5 ~ 

-a1 ~ wefu> 3RR GJtT % I 

dlfclCl5I SP61iC15 4.5 

31IYaql:8l l!Cf ~ 31IYaql:8) ~ c5T -a$llfGlC15 ~ atq:ctIRlC15 ~ 

. 
!Ji61lfOlC15 '"if' ~ mefCi5ar 'SP'. m?f ~ 'd1' 6!1 611 Cit 

Fci:qalCit 

1 31 IYaq R-n 68 2.94 0.825 
0.489 wefu> GJffi 

2 m: 31IYaql"lfl 78 3.06 0.88 

~~T - 144 0.05 = 1.98 

0.05 =2.26 

~-- 

31IYa q I "l-n l!Cf ~ 3i1Ya q I "l-n m?IT q5f -a $II fG1 CI5 ~clT at q"li I~ CI5 ~ 

-a1 wefu> 3RR GJffi % 3m: ~!Ff 4RCI5&4GJI "locllCl5I"l q5f \5f1"Cfi % I 
'd1't0i4 Cfli GJ c5 3"1 '1"l"l1"l ~ 31IYa q R-n m?IT q5f -a $I1fG1 CI5 ~clT 

at q"li 1~C15 ~ 3"11Yaq I "l-n m?IT ir 3ITacp % I 

33 

RIE Li
bra

ry 
Bho

pa
l



344RctsC'4GtI 4.3 

311 R ell ;~;n ® ~ 3"11 R ell 'loil BBIT cBT fsp~ 1 (iFJ Cf.) ~m &I q 'li 1 Rl Cf.) 

~ -a1" 3RR: Grift ~ I 

(11 fcl Cf.) I Sf)d1 i Cf.) 4. 6 

311Rq I =ill ® ~ 3t1Rq l:eft a?IT ~ fsp~ ICiACf.) ~ &lq"ltlR:iCf.) ~ 

. 
!II d1liUlCf.) 't)", ~ mefcPcrr w. msr '8"81!t1 'CfI'i'0i!4 Cfli Gt 

FcI'tI(.YIGt 

1 31 IRq ral 68 2.88 0.88 

~ 3ilRql'lfl 0.97 0.7228 wefu;- Gttt 2 78 2.91 

~~T - 144 0.05 = 1.98 

0.06 =2.61 

3"1IRql'loil ® ~ 311Rql'loil BBIT cBT fsp~I(iFJCf.) ~m &lq'liIRlCf.) 

~ -a1" wefu;- 3RR: Gttt ~ 3ICf: ~~ QR:Cf.)d4GJI 'locnCf.)I'I! cBT \5'ITCft ~ Cfe:[f 

CFfb!l CFlI GJ if.> 3i ~'li R ~ 311 Rq 1 'loil BBIT cBT fsp~ 1 (iFJ Cf.) ~m &I q 'li IRl Cf.) 

~ 3i1Rq l'loil BBIT "if 3IT~ ~ 1 

34 

RIE Li
bra

ry 
Bho

pa
l



311 Rell =loft ® ~ 311 R ell =loft Br3IT cr5t CI Ira I ci\4 ~clt &I CI =lil ~ Cb ~ 

cit mefu:> 3fc:R ~ % I 

C1lfulCbI spCI1 jCb 4.7 

. 
!IICFlI\1IICI) 't)', ~ wefcPcrr w. UI?f oa"8l!ll CFf£l!l CFlI GJ 

FcI:q(.YJGJ 

1 3IIRCIRoft 68 404 3.74 

mefu:> GJit 2 ~ 3HRClI~ 78 3.74 0.89 0.523 

. 
~~T - 144 0.05 =1.98 

0.07 =2.61 

3"1 IR CI I =loft ® ~ 3i1RCI Roft Br3IT cr5t CI I ra I ci\4 ~clT &I CI =lil ~ Cb ~ 

cit mefu:> 3fc:R GJit % 3m: ~~ qRoCbC'ttGJI =l<ftCbI"l cr5t UJl"Cft" % crerr 
CFfUl CI1I GJ c5 3"1 ~=li R 3i1RCI I =loft Br3IT cr5t CI I ra I ci\4 ~clT &I CI =lil~ Cb ~ ~ 

3HRCI Roft Br3IT "R 3rr~ % I 
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RIE Li
bra

ry 
Bho

pa
l



344RcPC'QCiIl 4.5 

3'11 R CI h~.oft 1!Cf ~ 3"11 R ClI"I?oft tM51T q5f 'I!iI Gt I CifI CI5 ~clT &J CI "loti Rl CI5 

~ cij -wefcD 3fcR GUft % I 

c1liclCl5I ¢CAiC15 4.8 

3I1RClI:81 1!Cf ~ 3I1RClI:81 ~ q5f "lilGt 1C"CFIC15 ~ &JCI"l"IIRlC15 ~ 

. 
!>Id'll iU I CI5 'it' ~ mefcPcrr SP. Uf.)f 'tI'8i41 CR Ei!4 Cfli Gt 

fclilClGt 

1 3"11 R CI R=il 68 4.04 0.83 

2 ~ 3'11R ClI:eft 78 4.24 0.84 0.267 -wefcp "Gttt 

. 
~~T - 144 0.05 = 1.98 

0.01 = 2.26 

3"11 R Cli "loft 1!Cf ~ 3"11 R Cli "loft t9f3lT q5f 'I!iI Gt I CifI CI5 &J CI "loti Rl CI5 ~ cij 
-wefcp 3fcR "Gttt % 3RT: ~~ QRCl5C'4GtI "l<flCl5I"l q5f "\JllCfi % aerr 
CFfUl d'li Gt m- 3"1 <:JI"lotl "l ~ 3'11 R Cli "loft tM51T q5f 'I!iI Gt I CifI CI5 &J CI "loti Rl CI5 ~ 

31 I R CI Roft t9f3lT if 3IT2:fCP % I 
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RIE Li
bra

ry 
Bho

pa
l



3"lIfaqrd) l!Ci" ~ 3"11faqRon "ffi51T q5f CbC'lIC'lflCb ~clt ellq:W~Cb 

~ CJf mefu;- 3fcR" GJtf ~ 1 

dlPciCbI ¢CfliCb 4.9 

31lfacll:81 l!Ci" ~ 31lfaq 1:81 "ffi51T q5f CbC'lIC'lfl Cb ~ ell cr81~ Cb ~ 

. 
!IlCfllfOlCb ~-&' ~ wefcPcrr w. m?I" '8'&!41 Cff£i!l Cfli GJ 

fci=tlC'lGJ 

1 3"11 fa q l:cfl 68 2.99 0.78 

2 ~ 3"11faql:cfl 78 3.1 8 0.93 0.3806 mefcp GJtt 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

3"11 fa q r20n l!Ci" ~ 31 1 fa q Ron "ffi51T q5f CbC'lI C'lfI Cb ~clt ell q '2"11 ~ Cb 

~ CJf mefcp 3fcR" GJtt ~ 3m: ~~ QRoCbE4GJI '2:cnCbl"l q5f crrrcft ~ cre:rT 
CffU) Cfli GJ c5 31 c:J)'2"11'l ~ 3"11 fa q Ron "ffi51T q5f CbC'lI C'lfI Cb ell q '2"11 ~ Cb ~ 

311 fa q 1 '2on "ffi51T "it 3ITCTCf) ~ 1 
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RIE Li
bra

ry 
Bho

pa
l



344RctiCQGfI 4.7 

3i1Rq l'ltl 1!Cf m- 3i1Rq l'ltl ~ ctr ~ ~clt ~ q'li I~ Cf5 ~ cR­ 
mefus 3RR "GttT "% I 

ctlfclCf51 ¢CI1iCf5 4.1 0 

. 
gCl1I~ICf5 ctf~ ~ mefuscrr w. Uf3f '8'8i!4J CfI eot CI1I Gf 

PcI:qffiGf 

1 31IRql:eft 68 3.42 0.51 

2 m- 31IRq l:eft 78 3.78 0.95 0.0045 mefus GJtt 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

, 
31*IR=>-=q~I'2:cI+:{) 1!Cf m- 3i1Rq I 'ltl ~ ctr ~ ~clt ~q'li 1~Cf5 ~ cR- 

mefus 3RR GJtt "% 3m: ~~ 4RCf5C'4CitI 'l<fiCf5Fl ctr ~ "% (fen­ 
CFfeot CAl Cit i5 3"1l1'lil'l m- 3i1Rq l'ltl ~ ctr ~ ~ q'l"lI~Cf5 ~ 31IRq l'ltl 

~ "R 3IT~"%1 

38 

RIE Li
bra

ry 
Bho

pa
l



344R:Cf5dQGtI 4.8 

3'11Rell"2fl l!Cf ~ 3'11RClI"2fl Bf5IT ctr 3"1Cj)Cf'!lICiFlCf5 ~clT &JCI"2il~Cf5 

~ -a1 mefcp 3fc:R GJtf % I 

dlffitCf51 SDCI1iCf5 4.1 1 ? 

3I1RClI~ l!Cf ~ 3I1RClI~ UBiT ctr 31Cj)Cf'!lICiFlCf5 ~clT &Jq"8I~Cf5 ~ 

. 
SIt CfllfUlCb ~tT., ~ WefCbd I SP. UI?f "8'(Si!11 iff&lCl1IGt 

RI:qtyJGt 

1 3iIRqrcfl 68 3.29 0.82 

2 ~ 3iIRqlm 78 3.23 0.97 0.9249 mefcp "GJ"tt 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

3'11RClI"2fl l!Cf ~ 3'11RCI Rft Bf5IT ctr 3"1Cj)Cf'!lICiFlCb ~clT &Jq"2i I~Cb 

~ -a1 mefcp 3fcR' "GJ"tt % 3ICf: ~~ 4R:Cf5dQGtI "241Cf5I"2 ctr \5f1Cft % (felT 
iff~ CAl Gt if.; 3"1 Cj)"2i 1"2 3'11 R CI Rfl Bf5IT ctr 3"1 Cj)Cf'!l1 CiFI Cf5 &J CI "2"11 ~ Cb ~ ~ 

3'11 re ell '2.f1 Bf5IT :R 3ITtrCf5" ~ I 
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RIE Li
bra

ry 
Bho

pa
l



3qqRcb&llGiI 4.9 

31IRcll "l?oft t!Cf ~ 3"1lR CI Roft m?I1 cBT "l?il CfII fu1 ct5 ~clt C?OJ CI "l?il R1 ct5 

~ <J1 mefcp 3m GJtf % I 

ctlfutCf.)1 wCfl jCf.) 4. 1 2 

3t1RClI=d1 t!Cf ~ 31IRClI:81 m?I1 cBT "81 CflIfu1Cf.) ~ C?OJ CI "81R1 Cf.) ~ 

. 
!II CfllfOlCf.) 'tr~ ~ mefcPc:rr w. m?f "8'Bi41 CF[e:J CAl GI 

rc.'CIC1G1 

1 3"1lRClRoft 68 2.69 0.78 

~ 3"1lRClI~ mefcp ~ 2 78 2.84 1.08 0.1 837 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

3"1lR ClI "l?oft t!Cf ~ 31IRClI "l?oft m?I1 cBT "l?il Cfllfu1ct5 ~clt C?OJ CI "l?il R1 ct5 

~ <J1 mefcp 3fcR ~ % 3m: ~~ qRoct5&l1G11 "I?<llct5I"1! cBT urrcfi % den 
CFfb!! CfII GI cf.; 3i ':J)"I?il"l! ~ 3"1lR CI Roft m?I1 cBT "l?il CfIIfu1ct5 C?OJ CI "l?ilR1 ct5 ~ 

3"1lRCI Roft m?I1 ir 3IT2rcP % I 

40 

RIE Li
bra

ry 
Bho

pa
l



aqqRcP&4GfI 4.1 0 

311 Rell 'loft t!Cf ~ 3"IIR CI !'loft t9I?IT mr ¥ ~ ~clT ~ CI 'li I~ CI5 
~ cit wefcp 3fc:R ~ % I 

d 1ffi1C151 ¢di jC15 4. 1 3 

3I1RClI:ill t!Cf ~ 3I1RClI:ill t9BIT mr ¥ ~ ~ ~CI"tII~C15 ~ 

. 
!J dilfOlC15 ~tr, ~ ""8TefcPcrr '¢'. m?f "tI'&!I1 'd1"e:t dil Gf 

FcI:qC!lGf 

1 311 R ClI:eft 68 3.18 0.89 

2 ~ 3i1RClI:eft 78 3.43 1.06 0.2042 wefcp Gtt1" 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

3i1RClI'loft t!Cf ~ 3i IRCI !'loft t9I?IT mr ¥ ~ ~clT ~ CI'li 1~C15 
~ cij- wefcp 3fc:R Gtt1" % 3m: ~~ QRCf.)E4GfI 'l<i1Cf.)I"l mr urrcft % crerT 
'd1"UI dil Gf cf; 3i c:J)'li l"l ~ 3i IRCI !'loft t9I?IT mr ¥ ~ ~ CI 'li I~ CI5 ~ 

3i1reClI'loft "ffi?IT mr 3N@ 3rr~ % I 
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RIE Li
bra

ry 
Bho

pa
l



I<J URBAN m RURAL 

42 

RIE Li
bra

ry 
Bho

pa
l



~~ TICf (WeRlOI BJ?IT ctr "2"111%04 ~m &lcR"lI~Cf5 ~ cij wefcp 

3RR GJtT "% I 

344RcPC'4G11 5.1 

dlffitCf51 ¢CfliCf5 4.14 

~~ TICf (lUanOI UBlT ctr "CI1it;04 ~ &lCl"CII~Cf5 ~ 

. 
!OICfllfUlCf5 'tf' ~ wefcmrr SP". 'ffi5f "CI"8i!I1 'CfI btl CflI GI 

Pc!:qffiGi 

1 ~~ 59 3.83 0.90 

2 CIlI at) 01 87 3.63 0.84 0.1 880 wefcp Gftl 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~~ TICf CIllailol BJ?IT ctr "2"111%04 ~m &lCl"2"1I~Cf5 ~ cij wefcp 

3RR ~ "% 31Cf: ~~ qRCf5C'4G11 "241Cf5R ctr crrrcft "% rrerr CffUlCflIGi cTi 

3"1 c:J)"2"1 l"l ~~ BJ?IT ctr "2"1 11%04 &l CI"2"1 I ~ Cf5 ~ CIlI an 0 I BJ?IT ctr 3-rQ-mT 

3ITmo "%1 

43 

RIE Li
bra

ry 
Bho

pa
l



aQQRcbdllGt1 5.2 

~~ l!Cf em ai) 01 m"5T1 q5f 't1 $Ilful Cb ~clT C4 CI iil~ Cb ~ cR- mefcp 
3RR Gfcft % 1 

dlfffiCbI SbCfliCb 4.1 5 

~T&lf l!Cf em ai) 01 m"5T1 q5f 't1 $Ilful Cb :8 ai dT C4 CI:a I~ Cb ~ 

. 
!:ICFllfOlCb ~tT, ~ mefCbcrr w. tDf.)J" :a'8i!l1 'CfI"e:JCFlIGt 

Pci:qaGt 

1 ~~ 59 3.02 0.86 

2 (}:I 1Cf{l 01 87 3.00 0.86 0.9073 mefcp "GI"tt 

i¥ffi~T - 1 44 0.05 = 1.98 

0.01 = 2.26 

~~ l!Cf (}:II ai) 01 m"5T1 q5f 't1 $I1~ Cb ~clT C4 Cli"ll~ Cb ~ cR- mefcp 
3RR 'GI"tt % 3m: ~~ qRCb&QGJI iocf)CbI"20 q5f \5'fTCft % cre:rT 'CfI"e:JCFlIGJ if> 

3i ~iil"20 ~T&lf m"5T1 q5f -a $II ~ Cb C4 CI iii ~ Cb ~ CJlI ctft 0 I m"5T1 'R 3ITtrcP 

%1 

44 

RIE Li
bra

ry 
Bho

pa
l



3QQRcbd4GfI 5.3 

~~ 1!Cf C£llctftol BI?IT cBT fsp~ICiACb ~m &lcFI?O"lIR:iCb ~ -at 

mefcp 31cR GJtT % I 
dlfclCbI ¢CAiCb 4.1 6 

~~ 1!Cf (:Ulctft 01 BI?IT cBT fsp~ ICiACb ~ &lCI'ttlR:iCb ~ 

. 
!:ICfllfOlCb ~tr~ ~ mefcPcrr 'SP. tM'5f 'tI~1 CfI &!4 CAl Gf 

Fci:qffiGf 

1 ~~ 59 2.91 0.90 

2 C£l1 a:ft 01 87 2.89 0.95 0.059 mefcD GJtt 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~~ 1!Cf C£llctftol BI?IT cBT fsp~ICiACb ~m &lCI'tIIR:iCb ~ cij 

mefcD 3icR GJtt % 3m: ~~ QRoCbdQGfI 'I?O<IlCbI'l cBT \5fl'Cft % oe:rT 

CFfUl di I Gf iB" 3"1 ~'I?O"l1 '2 ~~ BI?IT cBT fsp~ I CiA Cb &I CI 'I?O"lIR:i Cb ~ C£l1 a:ft 0 I BI?IT 

"'I?O)- 3ITacp % I 
4-5 

45 

RIE Li
bra

ry 
Bho

pa
l



aqqRCf5&4Gt1 5.4 

~~ l!Cf 41 1ai1 01 t9I?lT cBT cll\"Ol~ ~clT ~cRil~Cf5 ~ "a1 mefcp 
3RR- ~ ~I 

CflfC1Cf51 ¢d1iCf5 4.1 7 

~~ l!Cf (mai1ol t9I?lT cBT ql\"Ol~ :ciciiclT ~q"l"JI~Cf5 ~ 

. 
!OICFllfOlCf5 'tr"' ~ mefuxrr '¢'. 'm?f "l"J'8i!I1 'CFJ'Ei!J CFlI Gt 

Pct:qffiGJ 

1 ~~ 59 3.83 0.92 

2 41lcRlol 87 3.91 3.33 0.8150 mefcp GJtt 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~~ l!Cf 411 a:n 01 t9I?lT cBT q IfUl~ ~clT ~ q"li I~ Cf5 ~ "a1 mefcp 
3RR- GJtt ~ 3rcf: ~~ 4RoCf5&4GJI "l-4lCf51'l cBT o=rrcft ~ cre:rT 'CFJ'~d1IGJ if.> 

3"1 <iJ"li I'l 411 a:n 01 t9I?lT cBT q 1\"01 ~ ~ q"li I~ Cf5 ~ ~~ t9I?lT ~ 31f~ ~ I 

• 

46 

RIE Li
bra

ry 
Bho

pa
l



aQqRcP&4G11 5.5 

~~ 1!Cf ewaft 0 I tM5IT cBt 81 GIl C"d1 Cb ~clT Cll CI ~i 1R1 Cb ~ -a1- 
wefcD 3fcR GJtf % I 

dlfffiCbI ¢d1iCb 4.1 8 

~~ 1!Cf CUlaftol t9I?IT cBt "lilGlIC"d1Cb ~ CllCl'CIIRiCb ~ 

. 
!>iCl1lfOICb ctr~ ~ mefCBcrr w. m?I' 'CI'8i!I1 'd1~d1IG1 

RliltvlGI 

1 ~~ 59 4.22 0.82 

2 ewaft 01 87 4.10 0.84 0.41 03 wefcD ~ 

0.05 = 1.98 

0.01 = 2.26 

~~ 1!Cf CU I aft 0 I tM5IT cBt 81 611 C"d1 Cb ~clT Cll CI ~i 1R1 Cb ~ -a1- 
wefcD 3icR" ~ % 3m: ~~ 4RCbdQ611 ~<ftCbI"l cBt urrcft % aerr 
Cff&l'd1TCi1" if.> 3"1 c:J)~i R ~~ tM5IT cBt 81 611 C"d1 Cb Cll CI ~i I R1 Cb ~ 'J:tI aft 0 I tM5IT 

~ 3:rf~ %1 

47 

RIE Li
bra

ry 
Bho

pa
l



344RcbC'4G11 5.6 

~~ ~ CUlctftol tM?IT q5f Cf5C'1IMCf5 ~m ellcF2."lIR1Cf5 ~ <ff 
wefu;- 3kR ~ % 1 

dlffitcOf)l ¢cttiCf) 4.1 9 

~~ ~ m Ictft 01 m?Jl q5f Cf5C'1ICJ1Cf5 ~ ellCl'2:t1R1Cf5 ~ 

. 
!OIcttlfOlCf) cif' ~ mefCf5ar w. ~ :ct"8i!l1 Cij EiI Cff I GI 

• 

Fci'flC1G1 

1 ~~ 59 3.1 7 0.95 

CUlaft 01 wefu;- GJ1ff" 2 87 3.03 0.82 0.3720 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~~ ~ CUlctftul tM?IT q5f CtiC'lIMCti ~m ellcl'2."lIR1Cf5 ~ -a1 
wefu;- 3kR GJ1ff" % 3Rf: ~~ qRCf5dQGlI '2.<flCf5I'l q5f \J'I'T"Cft "% cre:rT 
CFf5!l ctt 1 GI cf.> 31 '1'2."11 'l ~~ tM?IT q5f Cf5&11 M Cf5 ell CI '2."11 R1 Cf5 ~ CUI aft 0 I tM?IT 
"R 3IT~ "%1 

48 

RIE Li
bra

ry 
Bho

pa
l



3QqRCf.)Ci4G11 5.7 

~~ T!Cf 41 1 aft 01 ~ q5f ~ ~m &lCl=l"lIRlCb ~ -at wefcp 

3RR- artr % 1 

(11 fcl Cf.)1 SbCFI i Cf.) 4.2 0 
~~ ~ (,U I aft 01 m?IT q5f ~ ~ &lCl'l"tIRlCf.) ~ 

. 
!J CFllfOlCb cit;, ~ wefumr 'SP. m5I' 'l"t"&!ll "CfI'eI CFlI GI 

fcj'QtvlGI 

1 ~~ 59 3.89 0.95 

2 CJlI~OI 87 3.43 0.90 0.0043 wefcp ~ 

. 
~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~~ T!Cf 41 1 aft 01 ~ q5f ~ ~m &lCl=l"lIRlCb ~ -at wefcp 

3RR- ~ % 31Cf: ~~ QRoCbCi4G11 =l<flCbI"l q5f urrcft" % 'Cfe:IT "CfI'UlCFIIGl cf.; 

3"1 '?J=l"ll =l ~~ tM5IT q5f ~ ~m OCI CI =l"lIRlCb ~ 411 aft 01 tM5IT ~ 3ITacp 

"%1 

49 

RIE Li
bra

ry 
Bho

pa
l



a44RCI5C'4GfI 5.8 

~~ TIC[ em an 01 t9I?1T q5f 31 <j)~ 1 CiA CI5 ~m &J CI "l"lIRlC15 ~ cij 

mefu; 3kR cffiT % 1 

ctlfutCl5I ¢d1iC15 4.21 

~~ TIC[ 4IlanOI t9I?1T c5T 31<j)~IC"Ct1C15 ~ C4C1'8IRlC15 ~ 

. 
~d1lfUlC15 'if' ~ mefCl5crr w. ~ '8~1 'd1'~d1IGf 

Pci'Q(.YJGf 

1 ~~ 59 3.45 0.85 

2 an a=ft 01 87 3.1 3 0.91 0.8904 mefu; areft 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~~ TIC[ Cill an 01 t9I?1T c5T 31 <j)~ 1 CiA CI5 ~m &J CI "l"ll Rl CI5 ~ cij 

mefcp 3kR areft % 3m: ~~ 4RCI5&4GfI "l<l)CI5Fl c5T crmft % cre:IT 
dib'!:l Cfli Gf c5 31 <j)'l"ll '2 ~~ t9I?1T q5f 31 <j)~ 1 CiA CI5 ~m &J CI "l"ll Rl CI5 ~ 

Cill an 0 1 t9I?1T "R 3ITacP % 1 

50 

RIE Li
bra

ry 
Bho

pa
l



aQQRcbdQGJI 5.9 

~T6:ft 1!Cf em ctft U I "ffi?IT q5f "l?i I Cf11 M Cb :cicsTclt ~ q"l?i I ~ Cb ~ "a1 
weicP 3fcR" ~ % I 

dlfclCbI SbCfliCb 4.22 

~T6:ft 1!Cf cma:fiul a?IT q5f '8ICf1IMCb ~ Q!lCl'8IRiCb ~ 

. 
SIICflliUlCb 't)-' ~ "8TefCbdl w. ~ '8'8i!11 'CFI"e:t CfII GJ 

Pci'q(.YJGJ 

1 ~T6:ft 59 2.91 1.02 

2 emctftul 87 2.67 0.89 0.1 556 weicP Gflft 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~T6:ft 1!Cf cllla:fiUI tM?iT q5f "l?ilcfllMCb :cicsTclt ~q"l?il~Cb ~ "a1 
weicP 3fcR" Gflft % 3m: ~~ qRCbdQGtI "l?41CbR q5f ~ % aen 
Cf[Uj Cf11 Gt ~ 31 ~"I?i I '2 ~T6:ft "ffi?IT q5f "l?i I Cf11 MCb ~clt ~ q"l?i I ~ Cf) ~ 

CUI an U I 'ffi3it 'R 3rf'~ % I 
5'1 

51 

RIE Li
bra

ry 
Bho

pa
l



344Rcb&4G11 5.1 0 

~~ "(!C[ Yll an 01 t9f5J1 q5f dJ5 cpRf ~clT CiOl CI i!i 1 Rl Cb ~ cR­ 
wefu.; 3RR ~ % 1 

dlfu:tCbI ¢CAiCb 4.23 

~~ "(!C[ CJlI~OI 'ri" q5f dJ5 cpRf ~ CiOlCl~IIRlCb ~ 

. 
MCAlfOlCb 'tf' ~ mefcPcrr SP. m?f '8'8141 'd1"eJ CH 1 GI 

fci:qClGl 

1 ~~ 59 3.58 1.02 

2 Yll ifft 01 87 3.1 3 0.93 0.01 05 wefcp GUff 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

~~ "(!C[ Yll an 01 t9f5J1 q5f dJ5 cpRf ~clT CiOl CI i!i IRl Cb ~ cR­ 
wefu.; 3RR GUff % 3m: ~~ 4RCb(tqGlI i!ocftCbI'l q5f \5'Il"Cft % den 
CFfeJ Cft 1 GI if.> 3i <:!i!i 1 02 ~re;:ft t9I?IT q5f dJ5 ~ ~clT CiOl CI i!"lIRlCb ~ 

em a4) 01 t9f5J1 ~ 3ITmP" % 1 

52 

RIE Li
bra

ry 
Bho

pa
l



6 

53 GIRLS III BOYS 

53 

RIE Li
bra

ry 
Bho

pa
l



qRcP&4GtI - 6 

t9J?f ~ "§BIT3IT qft ~ CI"li IRlCf5 ~ cij mefcp 3RR- ~ imr ~ I 

t9J?f ~ "§BIT3IT qft "lilf6~Cf5 ~m ~CI"liIRlCt.> ~ cij mefcp 

3RR- ~ imr ~I 

dli'clCt.>1 ¢CI1iCt.> 4.24 

t9J?f ~ "§BITaIT ~ :tllf6ffflCt.> ~ ~CI:~IIRlCt.> ~ 

. 
!OI CfllfOlCt.> ciT' ~ WefCt.>dl S5. m?f "CI"&!II 'CfI"6!I Cfli GI 

Fci'CI(.YJGI 

1 t9J?f 74 3.70 0.94 

mefcp ~ '" 2 t9151IQ 72 3.72 0.80 0.8935 

~~T - 144 0._05 = 1.98 

0.01 = 2.26 

t9J?f 1!Cf "§BIT3IT qft "li I f6~Ct.> ~ CI"li I Rl Ct.> ~ cij mefcp 3m ~ 

~ 3RT: ~~ q R:Ct.>&4 GJ I 8ft Cf5 I "l cr5T urrcfT ~ ae.rr 'CfI"UI CHI GJ c:i5 3"1 i3"li I "l 

"§BIT3IT cr5T "lilf6f&JCf5 ~CI"liIRlCt.> ~ Ef3IT ~ 3IT~ ~ I 

S4- 

54 

RIE Li
bra

ry 
Bho

pa
l



3QQQCf.)tyqGlI 6.2 

t9f.)f 12Cf Br5IT3IT cBt -a $II fGi Cf.) ~clT ell CI "l"ll ~Cf.) ~ cij- wefu;- 3ic=R" 

GJtT e;)crr ~ I 

(11 fc1 Cf.) I Sf.iCft i Cf.) 4. 2 5 
t9f.)f 12Cf Br5IT3IT ~ -a $IlfGiCf.) ~ ellCl"8 1~Cf.) ~ 

. 
!>Id1lfOlCf.) 'it' ~ wefCbcrr w. t9f.)f "8"8i!11 CFf~d1IG1 

Pci'CIC'1G1 

1 t9f.)f 74 2.81 0.79 

wefu;- GffiT ...., 
0.0048 2 8i15l1Q 72 3.20 0.86 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

t9f.)f 12Cf Br5IT3IT cBt -a $IlfGi Cf.) ell CI "l"ll ~ Cf5 ~ cij- wefu;- 3fcR GffiT 
~ 3m: ~~ qRCf5C'4G11 "l<fiCf5I"l cBt urrcft ~ '(fen- CFf~d1IG1 c5 3"1~"l"l1'l 

Br5IT3IT cBt -a $II fGi Cf5 ell CI "l"ll ~ Cf5 ~ m?IT -R 3ITercD ~ I 

55 

55 

RIE Li
bra

ry 
Bho

pa
l



aQQRCf5&4GfI 6.3 

"E9f5f l!Cf tM5IT3IT ~ @i!lICiACf5 ~clT &jcRII~Cf5 ~ CJl wefcp 
3fcR" ~ ircrr % I 

dlfclCf51 spCI1iCf5 4.26 

"E9f5f l!Cf tM5IT3IT ~ f5p~ICtFlCf5 ~ &jq:ctIRiCf5 ~ 

. 
!OI CfIlfUlCf5 ~tr, ~ mefcPcn" 'SP. "E9f5f :ct'8i!l1 CFf~CfIIGt 

fcI:qaJGf 

1 "E9f5f 74 2.70 0.88 

..., wefcp GIit 2 t9151IQ 72 3.09 0.94 0.01062 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

"E9f5f l!Cf tM5IT3IT ~ @~ICiACf5 &jq'l"lI~Cf5 ~ CJl wefcp 3fcR" GIit 

% 3m: ~~ 4RCf5&4GtI 'l<llCf5Fl ~ \JfT"Cft % aerr CFf~CFlIGt c5 3i~'l"lI'l 

tM5IT3IT ~ @i!lICtFlCf5 &jq'l"lI~Cf5 ~ t9T?IT "R 3IT~ % I 
5",.b 

56 

RIE Li
bra

ry 
Bho

pa
l



344Rcb(.YQGlI 6.4 

UBI" t!Cf Bl?IT3IT cBT ClI[OI \5i!J ~clT C2l CI "2"11 ~ Cb ~ cij- mefcp 3kR: 

~ itcrr ~I 

dlfri1CbI ¢CAiCf) 4.27 

ursr l!Ci" -rn?lT3IT cBT a I [0 I \5i!J '"2taiclT C2l a =tt I R:I Cf) ~ 

SP. ursr ~ CffeJdilGl QCf1lfOICb '"-&~ ~ mefCl5ar 

fc1:qClGl 

1 UBI" 74 4.12 3.60 

•.•.. 
0.2683 mefc5 GJtt 2 t9I?1IQ 72 3.63 0.80 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

UBI" t!Cf Bl?IT3IT cBT CllfOlcii4 C21Cl"2"1I~Cb ~ cij- mefc5 3RR GJtt ~ 
3m: ~~ QRCbdQGlI "2:cftCbR cBT U'£TCiT ~ cre:rT Cff&ad"lIGl c5 3"1~"2"1R Bl?IT3IT 

cBT CllfOlcii4 C21Cl"2"1I~ct5 ~ -ooIT ~ 3ITmP ~ I 

57 

RIE Li
bra

ry 
Bho

pa
l



aqqQcp(j(jGfI 6.5 

Bf.)f 1!CT t9I?IT3IT cBt "liI Gf I CiFI CI5 ~clt &I cRIIR:i CI5 ~ cit ~efcp 
3m GIN irc=rr ~ I 

dlfclcbl ¢CJ1iCb 4.28 

m?f 1!CT tM5IT3IT cBt 'l'CI Gf I CiflCb ~clt &I q :I?:IIR:1Cb ~ 

. 
!H1IfOICb '"iT' ~ ~efCPCrr w. m?f 'Ct'8i41 Cff&!l Cfli Gf 

Pci'CItvlGf 

1 Bf.)f 74 4.1 08 0.87 

"" ~efcp GJtl 2 8iI?l1Q 72 4.19 0.79 0.53 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

Bf.)f 1!CT t9I?IT3IT cBt "lit Gf ICiFlCb &I ct-<i 1R:iCf5 ~ cit ~efcp 3m GJtl 

~ 3m: ~~ QR:cBC?QGtI 8fiCf5R cBt ~ ~ (feu CffUlCflIGt cf; 3i~-<iR m?IT 
cBt "liIGfICiFlCf5 &lct-<ilR:iCf5 ~ t9I?IT3IT :R 3IT~ ~ I 

50. 

58 

RIE Li
bra

ry 
Bho

pa
l



344RCf)d4GJI 6.6 

t9J?f 1!Cf Br3IT3IT q5f Cf)(.YJICd"lCJ5 ~clt &lcF2il~Cf) ~ cij- wefu.; 
3fc:R ~ e;)crr "% I 

dlfutCf)1 ¢d'liCf) 4.29 

Uf5f l!Cf W51T3IT q5f Cf)(.YJICd1Cf) ~ &lch91~Cf) ~ 

. 
QCAliUlCb ctr~ ~ mefcPcu 'SP. Uf5f '8'8i!11 a:r~CAIGJ 

FcI~(.YJGJ 

1 t9J?f 74 3.22 0.83 

..., wefu.; ~ 2 t!l1?l1 Q 72 2.94 0.90 0.50 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

t9J?f l!Cf Br3IT3IT cBT Cb(.YJIMCb &aCl'8I~Cb ~ cij- wefu.; 3h=R ~ 

"% 3TeITct ~~ QR:cr>&4Ci1I· 'l41CbR cBT mrcfT "% c=re:rT CFfe:!CFlICi1 m- 31i3'liR 

t9I?IT cBT Cf)(.YJICd1Cb &aCl'lil~Cb ~ Br3IT3IT 'R 3IT~ "% I 

59 

RIE Li
bra

ry 
Bho

pa
l



aQQRcP(YQGtI 6.7 

"E9Bf t!Cf tN?IT3IT q5f ~ ~clT &l CI"li I~Cb ~ -al" mekP 3iCR" 

GI"tft 6lcrr % I 

C1lfutCbI spCI1iCb 4.30 

"E9Bf t!Cf tN?IT3IT q5f ~ ~clT &l CI"li I~Cb ~ 

. 
Qd1lfOICb ctT' ~ mefCbcrr w. m?r 'tI'&!I1 CFfUl CI1I Gt 

Pc!:qaIGI 

1 "E9Bf 74 3.40 0.83 

mekP crtt ..•• 
0.0049 2 t9I::>11Q 72 3.84 0.98 

~~T - 144 0.05 = 1.98 

0.0 1 = 2.26 

"E9Bf t!Cf tN?IT3IT q5f ~ ~clT &l CI"li I~Cb ~ -al" mekP 3m 

crtt % 3rerRr ~~ qRCbdQGfI "locftCbI'l! q5f 'iJfI"Cft % I CFfUldilGf cf.; 3i13"liR 

tN?IT3IT q5f ~ ~clT CllCl"li I~Cb ~ tM?IT -R arf~ ~ ~ I 

b'D 

60 

RIE Li
bra

ry 
Bho

pa
l



344RcbC4Cill 6.8 

t9rn 1!Cf tM5IT3IT q5f 3"1 ~~ 1M Cf) ~clT &I q '2"11 ~ Cf) ~ cij- wefu:; 
3fc:R" 'Gl1ft e;lcrr % I 

dlfri:tCf)1 spCAiCf) 4.31 

t9rn 1!Cf m51T3IT q5f 3t~~ ICiflCf) ~ &I q'8I~Cf) ~ 

. 
gd1lfUlCf) 'SD. t9rn '8'8it11 'd1'UI CAl Cit '"iT' ~ mefcPcrr 

Fcll:I(.YICit 

1 t9rn 74 3.1 3 0.86 

..., wefu:; ~ 2 t91511 Q 72 3.38 0.84 0.0917 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

t9rn 1!Cf tM5IT3IT q5f 3"1 ~~ 1M Cf) ~clT &I q '2"11~ Cf) ~ cij- wefu:; 
31cR" ~ % 3ffi: ~!Ff QRoCf)E4Gt I '24)Cf)1'I! q5f ~ % I 'd1"UlCAIGt cf.; 

3"1 ~'2"11"20 t9I?IT3IT q5f 3t ~~ 1M Cf) &I q'2"1I~ Cf) ~ Bl?lT "2) 3rr~ ~ ~ I 

.&j 

-""" 

61 

RIE Li
bra

ry 
Bho

pa
l



_- 

344Rcb(Y4CiIl 6.9 

t9l?f l!cT "E9J?IT3IT q5t ~i I CfllfuJ Cf.) ~clT ClI CI ~i 1R1 Cf.) ~ eft mefcp 

3RR ~ 61crr % I 

d IfutCf.)1 StiCfl i Cf.) 4.32 

tM?f l!cT "E9J?IT3IT q5t =tIICflliUtCf.) ~ ClICI=tIIR1Cf.) ~ 

. 
g CAlfCilCf.) '"tr~ ~ mefcPcrr w. t9l?f =tI'8I!I1 'd1"eot Cfli GI 

Pc!l:IffiGi 

1 t9l?f 74 2.743 1 .01 42 

.., 
mefcp "GJtff 2 t9I?1IQ 72 2.80 0.891 9 0.6958 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

t9l?f 1!Cf "E9J?IT3IT q5t ~i I Cfli fuJ Cf.) ~clT ClI CI ~i 1R1 Cf.) ~ eft mefcp 

3kR: "Gl'tl" % 3m: ~~ 4RcbC'QGlI ~<flCf.)I"l q5t uncft" % I 'd1"eotCAIGJ cf> 

3i c:J)~i l"l "E9J?IT3IT q5t ~i I CfllfuJCf.) ~clT ClI CI ~i I R1 Cf.) ~ BT?IT if 3ITacP ~ 

~I 

62 

RIE Li
bra

ry 
Bho

pa
l



344RCbd4G'1I 6.1 0 

t9I?f t!Cf "E9f5IT3IT q5f ClJ:6 ~ ~clT &I q "l"lIRlCb ~ cij wefcp .3ic=R" 

GUft ircrr %- I 

ell fcl Cbl SbCl1iCb 4.33 

. 
!JCI1lflilCb ~if' ~ wefc5crr w. ~ 'tI'&!I1 Cf( I:i4 Cf11 G'I 

Fci:qt1G1 

1 t9I?f 74 3.51 35 0.9620 

UI wefcD ~ 2 t!l13l1 Q 72 3.1 1 0.99 0.01477 

~~T - 144 0.05 = 1.98 

0.01 = 2.26 

t9I?f t!Cf "E9f5IT3IT q5f ClJ:6 ~ ~clT &I q "l"lIRlCf5 ~ cij wefcp 3R=R 
~ %- 31cf: ~~ 4RCf5&QGlI "l<llCf5I"l q5f ~ %-1 CFfb!OlCl1IG1 iB" 3ii1"l"lR 

-rn?IT q5f ClJ:6 Cf.>"Rf ~clT &I q "l"ll RI Cf5 ~3IT -R 3iT~ %- I 

,(,3 

63 

RIE Li
bra

ry 
Bho

pa
l



7. QRcbd4GtI - 7 

~T6-ft ~ c5 3i I~ ell "loft 3~ ~ 3"11 ~q I "loft -rn?IT c5 "li I cFIIMCf5 31Tfefcp 

«R" <ff mefcp 3m ~ % I 

C1lfEtCf51 ¢Cf1iCf5 4.34 

~~ ~ c5 3i1~ql:a1 3ft"l" ~ 3i1~ql:a1 m-sIT c5 =ttla:IIMCf5 3ITfefcp ~ 

=tt I cF1IM Cf5 
. 

!IICfllfOlCf5 '"if~ ~ mefcPcrr m?r =tt'82l1 'CFfet Cfli Gt 

3ITfefcp fclilclGJ 

~ 

3i I~q I "loft 3'CCf 4 1 1 8.5 1 3.1 1 2 
0.31 mefcp 

~ 3"11~ql"ltl 3'CCf 8 109 8.24 
~ 

3i1~ql"ltl 'CFfercff 32 76.46 12.27 mefcp 

~ 3i1~qFcft 'CFfercff 1 8 75.27 1 1.90 0.7449 ~ 

311~ql"ltl ~ mefcp 1 5 41.53 1 0.09 

~ 3i1~ql"ltl ~ 1 0 49.8 3.57 0.01137 ~ 

3"11 ~ q I "loft l!Cf ~ 3"11 ~ q I "loft -rn?IT if.; 3'CCf "li I sn M Cf5 3rrfefcp «R" c5 
~. 81C'i5lC'lI q5t Cf5l-R; = 1 2-2 = 1 0 

mefcPcrr «R" 0.05 = 2.23 c=re.Tf 0.01 = 3.12 

31cf: ~ «R" "Q""l" mefcp 3m ~ ~ 31cf: ~~ QRoCf5d4 GJ I "l<fiCf5R 
q5t urrcft % I 

2. Cffercff"li I CH 1M Cf5 3rrfefcp «R" if.; fc?rr! 81 ci 51 C'li if.; Cf5l-R; = 5 0 - 2 =4 8 

mefcPcrr«R" 0.09 =2.01,0.01=2.68 
31cf: ~ «R" "Q""l" mlffCf tr CI"IlGf "l"ll '2uft c5 'if' CI"IlGf "ir "Cf)CFf % I 

1. 

31cf: mefcp 3m ~ % I 
3 . ~"li I CH 1M Cf5 3rrfefcp «R" c5 fc?rr! 81 ci 51 C'li q5t Cf5l-R; = 2 5 - 2 = 2 3 

mefcPcrr «R" 0.05 = 2.07, aerr 0.0 1 "Q""l" 2.8 1 

31cf: GT «R" "Q""l" mlffCf 'if' CI"IlGf "l"l Fl!Ouft c5 'if' CI"IlGf "ir "Cf)CFf ~ 
3TeITct mefcp 3m GItf % 3TeITct ~~ QRoCf5d4GJI "l41Cf5FI!O q5t urrcft 

%1 
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RIE Li
bra

ry 
Bho

pa
l



8. QRcbCi4GtI - 8 

CUI an 0 I 3i IR ell "lt1 1!Ci" ~ 3i IR q Rt1 ~ cf.; "li I <f1IM C$ 31Tfefcp R.e:rRr 
cR- mefcp 3kR- ~ % I 

cilRilC$1 Sbd1iC$ 4.35 

CUlanOI 3iIRql:d1 ~ ~ 3iIRql:8l tffiIT cf.; 'cIlCfllMC$ 31Tfefcp ~ 

"CIICAIMC$ 
. 

!OICAlfOlC$ "if' ~ mefcbdl UBI" "CI~I 'CJ1'6!I CA I Gt 

31Tfefcp fci'tlclGl 

:ccR" 

3iIRqrcft 'CJ1'~ 8 1 40.25 26.28 mefcp 

~ 3iIRqrcft 0.490 ~ 'CJ1'~ 32 148.03 24.38 

3iIRqrcft ~ 9 80.77 14.68 mefcp 

fu" 3iIRqrcft ~ 9 84.00 15.42 0.6743 ~ 

1 . 'CJ1'~ "lilcfIlMC$ 3mefcp ~ cf.; fEn:! "l"C1c1?1dl ctf c5rR; = 40-2=38 
mefuxrr ~ O. 0 5 ~ "Q""l" 2. 0 2 'Cfe:rf O. 0 1 ~"Q""l" 2.7 1 cITGtT 

~ "Q""l" -IDmcr 'if' "CfITGf "li I "loft cf.; 'if' "CfITGf il Cf5d1 % 3m: mefcp 

3m ~ %1 
2. ~ "lil<f1IMC$ 3mefcp ~ cf.; fEn:! "l"Clc1?1ctl ctf c5rR; =1 8-2=1 6 

mefuxrr 'ct'R 0.0 5 ~ 2.12 (fen- 0.01 lR 2.92 3m: ~ ~ 

"Q""l" -IDmcr 'if' "CfITGf "lil'lOlft cf.; 'if' "CfITGf il Cf5d1 % 3m: ~~ 

q RoC$('tI Gil "l"C1l C$I 'l ctf 'UTT"Cft % I 
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